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1. (158) Find f* for the given functions f.

(a) flz) = V14 VTFE () flm) ==V (o) fiz) = [ et
A

|

£t = Lo M) 3
11..| '|4—-i1+1;." e :]

E‘:j'ﬂq -'f-l‘ﬂ-'ﬂf\.u-i-i" '.]I:;

T2 e 2
Frog = &) hi{ s it e —— i[Lﬂ =

T B iognad | ok T Adal. trxeuw T gd

-I-:
x
1]

[
_I—"'_"“l
g

¢
<
nd
[
&
1"
r--—-'"'r-"l
)
r
[
at
[
[

=

Bay e Bl ST TR of) ke doa - F ' = Ho




-

Name

2. (15) Evaluate the limits.
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3. (15) What are the maximum and minimum values of the function f{z) = (22 4+ 1)e="
on the interval [0, 1]7
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4. (15) Perform the integrations.
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5. (15) Find the arca of the region bounded by the parabola o = £2, the y-axis, and the
tangent line to the parabola at the point (2, 4).
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6. (15) What iz the volume of the solid one obtains by revolving about the y-uxis the
region bounded by the right branch of the hyperbola 2 — 2* = 1 and the line ¢ = 27 -
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7. (20) What is the volume of the solid one obtaing by revolving about the r-axis the
region below the line y = 4 and above the curve y = o7 4 o757
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8. (30) For the function f(x) =
{a] Delermine the intervals of increase, the intervals of decrease, and the local maxima
and minima.

(b) Determine the intervals of upward and downward concavity, and the points of
inflection,

{c) Sketch the graph.

2 T i + i 1+%
R e R B T e e e i
2 e st
R = B3 LW S o £ F'Il‘.';-l a F"'ﬂ' m__‘g

PR R L T T e ;.wm?
| bitig i . Flﬁuijmﬂw-w;

Sprtad  pras. - £ e,

- - [-I. = -..I—
T e I 'I} & A 3
[I="|I II:”['!"I p i . hé l.‘:'-!*h\ 23 &g 4 X
(1 % =y’ (1-x)®
Covcludigny - Wexd =d ; Flze, P oA cerdam down
“ak tK e e F oA tevtawr ap

3

Vo oM e e H E" e a

ey The ba wziom g o e, Fiml = =3 .
The weapmy 4a sl uﬂ@ E Saren Fimy = Q.

-3 | r

pedt: K. 3 P Sl




MName

- 9. (30) Ship A is headed east at 30 miles per hour. Bhip B iz headed north at 30 miles
per hour. At noon ship B is 30 miles due south of ship A.

(a) What is the relalive position of the ships when the distance betwsen ther is
smallest?

(ls) At what rate is the distance between the ships increasing st 3 pan.7
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10. (20) A hemispherical bowl had radius & inches at its top. Whater is dripping into the
bowl at a rate of 2 cubic inches per minute. At what rate is Lhe water level rising when

the water is 4 inches deep?
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